
 

 

 

Sketch the slope field at the nine indicated points. 

 
𝑑𝑦/𝑑𝑥 = (𝑥 + 𝑦)/(𝑥 − 1) 

Sketch the solution curve through the (2, -2) and 
the solution curve through (3, 4). 

 

Select the differential equation that matches the 
given slope field. 
 

 
 

     𝑑𝑦/𝑑𝑥 = 𝑥 + 𝑦                 𝑑𝑦/𝑑𝑥 = 𝑥 − 𝑦 
 
⇒ 𝒅𝒚/𝒅𝒙 =  −𝒙 − 𝒚            𝑑𝑦/𝑑𝑥 = 𝑦 − 𝑥 

Find the solution 𝑦 = 𝑓(𝑥)that passes through   

(0, 1). 𝑑𝑦/𝑑𝑥 = 𝑥𝑦 + 𝑥. 

𝑑𝑦/𝑑𝑥 = 𝑥(𝑦 + 1) 

1

𝑦 + 1
𝑑𝑦 = 𝑥 𝑑𝑥 

∫
1

𝑦 + 1
𝑑𝑦 = ∫ 𝑥 𝑑𝑥 

ln|𝑦 + 1| =
1

2
𝑥2 + 𝑐 

ln|1 + 1| =
1

2
(0)2 + 𝑐 

ln2 = 𝑐 

ln|𝑦 + 1| =
1

2
𝑥2 +ln2 

|𝑦 + 1| = 𝑒(1/2)𝑥2+ln 2 = 𝑒ln 2𝑒(1/2)𝑥2
 

𝑦 + 1 = ±2𝑒(1/2)𝑥2
 

consider the point(0, 1)    (1) + 1 = 2𝑒(1/2)(0)2
= 2 

∴ 𝑦 + 1 = 2𝑒(1/2)𝑥2
 

𝑦 =  −1 + 2𝑒(1/2)𝑥2
 


